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Section A: (30 x 2 marks )

For each question, four options are given. Choose the most suitable option

and shade your answer in the Optical Answer Sheet (OAS) provided.

1. Study the classification chart below. °
| Animals ‘
- Birds | Insects Fishes _ Ma}nmals
" Parrot Ant Shark Goat
Ostrich Spider Goldfish Mouse :
-. Pigeon Mosquito Dolphin Platypus _ |-

Which of the following animals are iricorrectly classified?’

(1)  Shark and Dolphin . .
(2)  Spider and Dolphin

(38)  Ostrich and Spider

4)  Platypus and Dolphin

2. Four children made some statements based on their understanding on p‘lahts.

~ Andrea:  Flowers develop from buds.
Katherine: A seed cannot germinate without light.
Lionel: A young plant depends on its seed leaves for foad.
- Zac: Seeds need water, warmth and carbon dioxide to germinate.

~ Who made the correct statement/s?
" (1}  Andreaonty
(2)  Andrea and Lionel

(3)  Katherine, Lionel and Zac only
4) -Andrea, Katherine and Lionel only
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Norlinah came across a specimen from a field trip in & science {esson. She
named it Specimen X and recorded her observations as shown.

QObservations

It has a stalk

it has no flowers.

1t is not green in colour.

It cannot move from piace to place

__-‘_-...Based on her observations, which of the follovwng would most llkeiy be
© Specimen X?

- (1) Moss

(2) Cactus
{3)  Toadstool \
(4) Bracket Fungus - - ' ‘

-Jason set up the following experimén‘t to carry out an investigation.

( ) inverted jar f L R

. candle

fizard

Y2l

JarxX JaryY-

He observed that the candle in Jar Y tock a shorter time to be extinguished
compared to the candle in Jar X. :

What could be the possible conclusion for his experiment?
(1)  Living things respond to changes in the environment.
(2)  Living things absorb heat from the flame of the candle.

{3) Living things take in oxygen which is requared for bumlng—
(4) Living things take in carbon dioxide which is required for burnlng
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'_5.

Study the life cycles shown below.

Life cycle A Life cycle B
/ nasiling \ / larva
ed9 adult bird . \Pupa

dragonfiy

Life cycle C

Why is Life cycle D different from the rest?

(1)
:(2)
(3)
4)

The table below shows the stages in the lrfe cycleof a ﬂowenng plant Wthh
. are not in the correct order.

It has three stages instéad of four.

Life cycle D

The young of the orgamsm in life cycle D grows on land.

The young of the organisin in life cycle D grows |

The young of the organism in life cycle D looks like its-adult.

n water.

‘ Stage ‘ o Development
A Shoot grows upwards.
B | Seed coat splits open.-
A C Roats grow downwards.
D | Flower# appear.
E Leaves start making food.

Which of the following shows the correct order of the stages?

M
(2)

(3)
(4).

B,ACED
8,C,ADE
B,C,AE,D
C,BAED

-
“
-
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7.

Which one of the following graphs below shows the relationship between the

mass of the seed leaves and the height of the seedling as it grows?

(1)

@

Mass of
| seed leaves
] A
P Height of
seedling
Mass of
seed leaves
A
—p- Height of -
seedling

)

@

fass of
seed leavas
A
» Heigfitof |
seedling
Mass of
seed leaves
A
- Heightof | .
 seediing

P4 Science SA1 2010 - Page 4




8. Study the classification table below carefully.

Animals
I
I 1
Young does not look Young looks like its
like its adult aduit -l
Frog Duck
Butterfly Chicken
‘ Mosquito Cockroach.
Heading A Heading B
Frog Butterily
Mosquito
Which one of the following represents Heading A and. B?
Heading A ‘Heading B .
(1) Give birth to young Lay eggs
1) - Eggs are laid in water Eggs arelaid on fand
(3) Moults when young Does not moult when young .
1 (4). Has four stages in its life cycle Has three stages in its life cycle’
9. Which one of the following illustrates what happens when we bend our arm?
(1) )
@ (4)
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10.

11.

Tommy spread a iayer of wax on different parts of four similar plants
A, B; C and D as stated in the following table. The wax prevents the plants
from exchanging gases with the surroundings.

After'a week, he noticed that two of the plants wilted first. .
Which of the following are most likely to be the two plants?

(1) AandB
(2) AandC
(3y AandD .
4y CandD.

-

PlantA | PlantB | PlantC | PlantD
Upper Stem Lower Upper
_ surface . surface and
Part ofizlint \Iz::rg;'re WaxX | of leaves - of leaves .| lower
. ppliea surface
of leaves

“He watered the plants daily and placed them beside a sunny-window.

The following diagram shows a leaf during the-‘pr-ocess of-making food. -

S

The amrows shown in the diagram represent the movement of substances
X, Y and Z during the process of making food.

\Which one of the following correctly represents X, Y and zZ?

X z
(1) Water Food Gases
(2) Water Gases Food
(3) Gases Food Water
{4) Food Water Gases
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12, The graph below shows the amount of carbon dioxide in the air in a small
garden. A, B, Cand D represents the time over a period of 24 hours.

. F' N
9-
g

Amount of carbon
dioxide (m®)

- Time

Which one of the following shows the correct time for A, B, C and D?

A B - C D
) 6 a.m. 1pm. 6 p.m. 1am,
(2) 6 p.m. 1a.m: 6 a.m. 1p.m.
(3) 12 noon 7 p.m. 12 midnight 7 a.m.
4 7a.m. 7 p.m.

12 midnight

" 12 noon
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13.

Kelly set up the following experiment as shown. She spilt the stalk of a white

carnation into half and immersed.one half into blue food colouring and the
other half into red food colouring. She labelled half of the petals Part A and
the other half Part B. Then, she observed the carnation the next day. -

Which of the following obse

colouring

blue food {7

i

~ 1 red food

=g =T

colouring .

~cotrect?

rvafions about Part A and B and its reason is

PartA

PartB

Reason.

[

Tums blue

Turns red

.The réd and blue colourings

were transported by the
food carrying tubes in the.

|- stalk to the petals.

@

Turns blue

Turns red

The red and blue colourings
were transported by the

‘water carrying tubes in the
| stalk to the petals.

3)

Turns purple

.Tums purple

The red and blue colouring
mixed together {o turn
purple before it was
transported by the water
carrying tubes in the stalk to
the petals.

(4)

Turns red and blue

Turns red and blue

The red and blue colourings
were both transported by
the water carrying tubes in
the stalk to the petals. .
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14.

- different conditions as shown

Mrs Lim put four glass jars A, B, C and D containing five similar peés in
below. After a few days, she observed the

pe_élS;
A B C D
Jar
' chemical
/] that
) absorbs
Damp/Dry - ‘
cotton wool Damp Dry‘ | Damp Damp
Locatioﬁ Placedin | Placed near | Placed near' | Placed neara
‘ refrigerator | a window a window window
| “Chemical that
cogé?tgﬁs - - - ~absorbs oxygen is |
' added

Which jar would she be able to obsérve seedlings? -

() JarA
) JarB
(3) JarC

@ “Jar D
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15 Which of the foilowmg body systems work together to enabie us to remove
carbon dioxide?

" Body Sys,tém A Body System B -Body System‘ c  Body Sy_stem D}.

(1) A and B only
(2) AandDonly
3) A,Band D

4) Ali of the above

.16, - Strings W, X, Y and Z are of the same thickness and length. However, they
-are made of different materials. “The diagram below shows the greatest
mass that each string can support before if breaks.

+*

*

b4
String Wi ‘

*

+

*

g

12 kg 5kg kg 7 kg

WhICh stnng(s) isfare able to support a mass of up to 8 kg without
breaking?

(1)  String Y only
(2)  String W only
(3) - String Wand Y only
{4) . String W, Y and Z only
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17

18.

The diagram below shows an apple and three identical marbles placed on a
balance.

Pan A

i

Which one of the following statements is true?

(1)  The apple has a bigger mass than two marbles.

(2). When one marblé is removed, Pan A will move up.

(3  When two marbles are removed, Pan B will move down.

(4}  The apple has a smaller mass than the three marbles in total.

'Wendy Jo learnt that an.iron nail becomes an electromagnet when placed in
a coil of wire combined to batteries.

- She wanted to find out whether the number of turns of the coil hffected

the strength of the electromagnet. She set up four arrangements as
shown in the diagrams below. -

10 furns
3]

20 turns 10 turns

Which two arrangements should she use to make it a fair test?

() AandB
(2) AandC
(3) Band C
(4 CandD
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19. Amagnet is attached t6 a-retort stand-and a paper clip is tied to.a wooden
block as shown in the diagram below.

magnet

a piece of paper

paper clip
_thread

[E====="—-wooden block

It was observed that the paper clip continues to- float’ when a piece of paper
‘is placed between the magnet and the paper clip. Which-of the following
sentences below explam the reason/s correctly?

A The magnetic force from the magnet can pass through the
paper. . _ .

B The magnettc foroe frorn fhe magnet cannot- pass through the
paper. :

C The magnetic force from the magnet can pass through a
magnet[c material:

(1) Aonly .

(2) Bonly .
"{3) AandBonly

(4) A, BandConly
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-20.

21.

Look at the set-up shown below.

measuring
cylinder

The table below shows some measurerments taken during an activity carried

out usmg this set—up

Volume of water in Volume of water and solid

measuring cylinder in measuring cylinder (ml) X
(ml) ’
50 80 , 80 —50=230

Which one.of the headings below best represents X?

(1) Mass of solid in the measuring cylinder.

(2) Mass of water in the measuring cylinder.
(3)  Volume of solid in the measuring cylinder. -
(4) Volume of water in the measuring cylinder. i

Four children, Ali, Ben, Charlie and David each made a statement on the
conditions that are necessary for a shadow to be formed.

A light source
* must be
present.

The object
mustbe a

The object Thie object must be

able to block light.

." Which of the following children above are correct?

(1) Aliand Ben

@ Ben and David
(3) Ben and Charlie
(4)  Charlie and David
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22.

23. -

A wooden pole is placed in the centre of a square board. Four. similar bulbs,
A, B, C and D, are placed at each corner of the board as shown in the
dlagrat_n below. -

" Which of the bulbs have to be switched on such that the shadows of the.

wooden pole are shown in the diagram above?

(1) AandB
(2) AandC
(3) B.and D
4y CandD

On a dark night, Matilda walked along a street, from Point A to Point D as

shown i the diagram below. There was a llghted street lamp along the path '
of her route. - -

Matilda

j -

Point D Point C Point B . PointA

At which point, A, B, C or D, would Matilda's shadow be the longest?

(1 A
@ B
3 C
4 D
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~ Refer to the diagram below. to answer questions 24 and 25.

Ariel, Bernice and Clara were trying-to look through three different tubes, A, B and
C, to see what was in the sealed box as shown in the diagram below. A small hole
was created at the top of the box to-allow light to enter.

24.

25.

tube A hole

Who would be able to see what was inside the box?

(1)  Ariel only - -

(2) ' Bernice orily
(3) Clara only

(4)  Ariel; Berice and Clara

Which one of the foliowing properties of light, explains correctly the reason

for your answer above?

(1) Light travels in curved lines.

(2) Light travels in a straight line.
(3)  Light cannot pass through opaque cbject.
(4) Light can pass through transparent object. -
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26. The word, “Shadow” was scribbled on a piece of cardboard as s‘hoWn in the

diagram beiqw- _
S5hadow

A mirror was then placed in front of the cardboard as shown below.

eye

| ‘Which one of the following images would you see in the mirror?

[cy 12

(3) (4)
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27.  The table below shows the Iengths of the shadow of a 10 cm stick
measured at different times in a day.

Time Length of shadow (cm)
6am. 15
8 a.m. 10
10 a.m. - 6
12 noon ? ;
2pm. 5
4 p.m. 9
6 p.m. 13

‘Based on the information above, which one of the followmg fine graph best
represents the lengths of the shadow of a 1-metre stick measured at
different times of a day? -

()

Length of shadow (cm) ‘ 2) Length of shadow ¢cm)
16 - ' 16 -
14 - 14 -
12 - 12
10 10
8 + 8
6 - 6
44 4
24 2 ]
0- Time 0 -Time
6 a 10 12 2 4 G 6 8 10 12 2 4 6
(3) Length of sfradow (cm) (4) Length of shadow {cm)
16 - 16 4
14 14
412 - 12 4
16 10 -
8 - 8+
6 - 6 -
44 4
2 2
0 Time 0 Jime
6 8 10 12 2 4 [ . a 10 12 2 4 6
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Matilda attached a light sensor to a datalogger and measured the amount of
fight that passed through material X in a dark room as shown in the diagram
below.

28.

sensor

_daialogger

light material X

‘She repeated the activity using material Y, followed by maierial Z. She
recorded the readings as shown in the table below. ’

Material X | Material Y Material Z-
Amount of fight -| T - ,
passed through. | 340 870 0
(lux) . ~

Which one of the following best represents material X,Y and Z correctly?

“Material Z

Material X

P4 Science SA1 2010 —Page 18

. NMaterial Y
|{1) | - Frosted plastic Clear glass . Cardboard |
@) |  Clearglass Frosted plastic  Cardboard
(3} Cardboard Clear glass. Frosted plastic
(4Y Cardboard Frosted plastic —Frosted-plastic
' C\eoc 3\09‘5'




29.

. .30

Plunger A Plunger 8

Susan set up the experiment below using two similar syrihges.

i ';,air

synngeg\' _ syringe. :

Which one of the following statements is correct?

g} Plunger A would mo(:e downwards when Susan applied force on it.

(2) Plunger B would move downwards when Susan applied force on it.
3 Both Plunger A and B would be pushed in when Susan applied

| force on it.
“4) Both Plunger A arid B would not be pushed in when Susakappjled
' ‘force on'it. . .

_ In the set-up below, Beaker Q contains water. Beaker R contalns water that
‘had been leftin the freezer overnight.

water leftin the
_freezer overnight

Beaker Q ‘ Beaker R

‘Which of the fo!lowmg dtagrams below can represent Beaker Q and R when
.each of them is tilted at an angle? :

Beaker Q ' Beaker R
) A, D B,C.E
) B.C.E - A, D
3) "C.E ‘ A B.D
(4) B,C A, D, E
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Section B1': (20 marks )

Write the answers in the blanks provided.

31.

Study the flow chart below.

Living things

Does it live
© . onland?

Does it
., make its
-own food?

Does it
produce
‘milk?

Does it
produce
flowers?

a) Which of the follt_)wing orgaﬂisrﬁs W, X, Y or Z could be an eel?

(1m)

_ Based on the flow chart, give supporting reasons why organism X
is an animal but not a. mammal. : (1m)
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32. * Edmund wanted to-transfer a plaht from his garden into a pot. The
diagram below shows how he did the transfer.

ptant in the garden

plant in the pot

. Nexf-day, there was a thunderstorm and the plant in the pot fell over.

= qa)

(o)

When the plant was ﬁ'rst'planteéf~in.'the";c:j"éi'z"&én; it 'v.vas‘ab!e to
withstand the strong wind from the thunderstorm. Why was:it
* unable to do so when it was transferred 16 the pot? {1m)

‘What shotild Edmund have done to ensure that the plant will be
able to withstand the strong wind in the future? (1m)
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33.  Study the following plants. The cactus is a plant found in the desert and
the teak tree is found in a rainforest. :

big broad

ks - ; needle like P e, ¥ -l leaves :Euth |
“cactus leaves - teaK tree afgz fgla ace

(a)

i (b), E

How does the large surface area of the leaf of the teak tree enable
it to make food more effi iciently? 7 _ : {1m)

Since-fhe leaves of a plant nelp it to make food why do the leaves
.of the cactus plant appear small and needle—hke‘? - {(1m)

P4 Science SA1 2010 — Page 3




34. Ahmad collected some leaves from different trees and classified them
according to the table below.

Group B

(@) Give suitable headings for Group A and B. (2m)

Groub Az

G_‘roup B:

{b) Ahmad then regrouped the leaves into pairs.
_Complete-the table below by identifying andther pair-of leaves and
state-the common characteristic between them. An example has

been done for you. {Do not compare vein patterns) (2m)
Pair.of leaves "~ Common characteristic

CandF ' 'Heart- shaped
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35. The diagram below shows the human skelétal' system.

(a)  ldentify and circle any two joints in the diagram above. = (1m)

(b) Why are joints important in the human skeletal system? (im)

¢

(c)- State one similarity between the function of the bones labelled “A”
and “B". = (1m):

() Name another system that works with the skeleta system to allow
‘ movement. ' : {1m)
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36 Study the following table.

Breathe using lungs

. Chéracteristic.s Animal X Animal Y
| Warm-blooded x 3
| Have hair - x ¥
‘Usually lay eggs in water N C x
x y

(@) Based on the characteristics given above, name the group} of

animals in which Animal X and Y belopg to.

Animal X :

Anim-ai Y:

(2m)

(b) = The following diégram shows the life 'cyble of a Mayfly. The Mayfly
nymph eats a lot and moults many times before becoming an aduit.

B 4

{ Egg

v

Life Cycle of a Mayfly

Adult |

(i - . Why s it necessary for the mayfly:nymph to moult?  (1m)
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37:  Mr Tan wanted to find out which type of food cockroaches are atiracted to.
He put four different types of food at four different corners of a rectanqular
cardboard. Then, he placed 20 cockroaches in the centre of the dish.in the

area marked A.

pear . -

chocolate
bar

After 2 hours, he counted the number of cockroaches found at each
-type-of food and recorded the information in a-table as shown below. _

Type of food. | Number of cockroaches
Pear : o 2
~ Lime , 1
Bread’ ' 9
Chocolate Bar | 8

(@)  Why did Mr Tan put the cockroaches at A for the experiment?
' ' ' - (tm)
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(b) Based on the information recorded in the-table, plot a bar chart

to show the number of cockroaches found at each of the different
food items.

(2 m)

Number of
cockroaches

A

10

h

chocolate Food
bar
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Section B2 : ( 20 marks )
Write the answers in the blanks provided.

38. Sandra carried out an experirﬁéﬁ{ usmg four different materiats, A, B, C
and D, of equal lengths. She then placed one comer of each material into
some coloured water as shown in the diagram below.

pole

ety
',

LLOTL
I

gr

YLV I3h
Phphs
¢

.
AL A1

L

.

1L

tray filled with
coloured water

i]‘

oy

epelees
Eldedd,

¢

- ' Materiat A | Material
Material B Material D

Ten rhinutes later, she removed the coloured water. Then she measured
the length of each strip'of material that was stainied by the coloured water
as shown in the diagram below. ‘ o -

Key:

Xreferstothe
length of material
- that was stained

T
£

,
¥,

¢

25

&1
&

3
i

S by the coloured
water (cm).
x{
Mateﬁal A Material C
Materal B - Material D
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- The results of her measurements are shown in the table below.

@

(®)

Material | ~ X(cm)
A 6
B 10
C 4 1
D 0 >

Based on the results above, which material would Sandra used to -
- make a bath towel? Give a reason for your answer. (1m)

Which matenal would she- choose to make a ralncoat'? Give a

reason for your angwer. o (1m)
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39.  Beth had three iron bars, Iron bar 1, 2 and 3. Two of the iron bars are
magnets while one is not a magnet. She labelled the ends of the bars as
shown in the diagrams below.

e e I — T e

Iron bar 1 Iron bar 2 lronbar3 ' !}

She brought the ends of the iron bars close to each other to find out how
the bars w_ouid‘interact. The results are shown in the table below.:

Ends that were brought | . Observations
close to each other _
TAand ' Attract
BandD |  Attract
?l;'andf E Repel
"CrandiE - i Attract -

{a) ‘Based on the results above, which one of the iron bars is nota .
- magnet? o PR . - {1m)

ronbar - = is not a'magnet: .

(b}  What would happen when the ends of the iron bars in the table
below were brought close to each other?
Wiite the word ‘Attract’ or ‘Repel’ for your answers in the. table
be}ow (2m)

Ends that were brought Observations
close to each other

CandE
Band F
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40.  Chloe was-given a beaker of water containing some iron filings and coarse
sand as shown in the diagram below. .

—=iron filings
e and coarse | T
sand

She was instructed to separate the iron ﬁli_ngs and ihe‘coarse sand from -
"the water. Show how Chloe can separate the two substances from the
water using both items in the diagram below. Write your answers in the

table below. (4m)
- Steps .. - Description S : What is
' L ; . ' _ separated?
Step 1 o . , " 1The -
i-is fare separated
;?-from the -
| Step 2 . . | The

is fare separated

| from the
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41.

Jolene had three measuring cylinders. She poured equal amounts of |

water into each cylinder. Then, she placed objects A, B and C, into the

measunng cylinders as shown in the diagram below. She observed

changes in the water levels.

40 mi

60 mi

T

IR

UL

L
]

T

]

i

!

70 mi

I

[
2]

TR

N

- Four statements about Jolene’s observations are given below. Study the
diagrams and indicate whether each of the statéments-is ‘Tr_ue' ‘False’ or:

‘Not posmble to teII’ Put a tick (\) in‘the correct box. (3m)
~ Statements ' True False Not
o : T possible |
o o _ , to tell ~
1(@) | The volume of block B is 20 ml. '
(b) | The original volume of water is 30
" R !m]- N
(c) The volume of block C is lesser
~ than the volume of b!ock A
(d) | The vo!urne of block B is greater
than the volume of block A.
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42.. Sally wanted to find out the volume of a lump of plasticine using the
displacement of liquid method: She prepared the set-up as shown in the
diagram below. _ - :

displacement can sz

spout-;

measuringmf""; .
cylinder wump of -

plasticine

The table below shows the instruct.io.n's_th,at Sally needed io follow in order
to find the volume of the lump of plasticine.

(@)  Arrange the instructions in the correct order using the numbers, ‘',
‘2 and *3' (1:1% step, 2: 2" step, 3: 3" step) in the boxes below.
' . ‘ _ : (2m)

Procedure . |. Step

() | Gently place the kump of plasticine into the -
" | displacément can. I

(i) Pour water into the displacement can"u‘ritii it reaches
just below the spout.

(i) | When the water has stopped flowing from the spout,
note the volume of water in the measuring cylinder.

(d) State the property-that the lump of plastiCiné must have, in order
for the above method to work. B C (tm) -

P4 Science SA1 2010 —Page 6




43.  The-diagram below shows the shapes of the shadows produced when two
different objects of different materials were-placed between a screen and
a torch. The measurements of the objects are given in the box on the
right.

) maasurement
screen

shad,owf—’—éh_ A . E A

Zom

Zem

‘>

oftoch -’

(a) State whether the objects are made of ‘Transparent’, ‘Trarislucent’.
or ‘Opaque’ materials. Write your answers in the table below. (2m)

Object - ___ Materials
_ (@ O ’ '
TN N

(i)

- i
Both the square and the triangular objects were then placed in front
of the screen in the order as shown in the diagram below.

screen

(b} in the box below, draw and shade the shadow of the above objects as
seen on the screen. = (1m)

Key
BEERRY cpaque

7 transiucent
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44.  Janice set up an experiment as shown in the diagram below.

|_.
B I
ifton 1T —p- PO%TZ*—F PO%3—»PO%4 .

Fixing the position of the torch and the screen, Janice moved the object
towards the screen from Position 1 to 4. Then she measured the length of
the shadow at each position and plotted a line graph to show her results.

(@) In the box provided below; draw a line to show the relationship
between the length of the shadow_ and the position of the object

correctly. . : (1m)
Length of . -
shadow (cm) -
A
k ] » { > Position
o 1 2 3 4 of object

. (b)  Whatis the refationship between the position of the object and the
length of its shadow? (1m)
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‘EXAM PAPER 2010

SCHOOL : METHODIST GIRLS' SCHOOL PRIMARY
SUBJECT : PRIMARY 4 SCIENCE

TERM- : SA1

0110210310405 060708 Qo 0io]oil]or2]Qi3[014] 005 Q16 [ Q17
2 (11313373323 Tal13231 21311

Q18 Q19 | Q20 | Q21 | Q22 | Q231 Q24 | Q25| Q26 | Q27 [ Q28 | Q29 [ Q30
4 1 3 2 2 [ 3 3 2 3 3 1 1 1

33a) The larger surface area of the leave of the teak tree allows the leaf to receive
the maximum amount of sunlight.

33b) The leaves are needle-like to minimize the loss of water in the desert.

. 34a) Group A: smooth edge Group B: jagged edge
34b) | A
Pair of Leaves Common Characteristics
CandF Heart- shaped
B and G Lobed- shaped

35a) i'

|
|
|

35b) To allow us to move.
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35c) Part A protects the brain while Part B protects the heart, they both protect
something.

35d) The muscular system.
36a) Animal X: fish Animal Y: mammal
36bi) To become bigger.

37a) This is to ensure that the cockroaches are at the same place from the four
different kinds of food so that the experiment will be a fair test.

cockroaches

37b) 1‘ R«mbe.t of .

1

8
8
7
[:3
5
44
3
24
1
o

Q T E Type of
ponc - bread

chocolala Food
bar

rd

38a) Material B, it absorbs the most water.

38b) Material D, because it ié waterproof and does not allow water to pass through.
41a) True b) Not possible to tell c) False d) Not'possible to tell
42ai)Step2  aii) Step 1 atil) Step 3

42d) It must have a definite volume and it must sink.
'43ai) Transparent ‘43aii) Opaque 43aiii) Translucenf:

43b)
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44a)

44b) The nearer the object is to the light source, the bigger the shadow will be and
the nearer the object is to the screen, the smaller the shadow will be.

Page 3 of 3



